PRESSURE
Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier
1.
[image: Graphical user interface, text, application

Description automatically generated]

Pearson Edexcel - Specimen Papers Set 1 - Paper 1 (Non-Calculator) Higher Tier
2.
[image: Graphical user interface, text, letter

Description automatically generated]
Pearson Edexcel - Sample Paper 1 - (Non-Calculator) Higher Tier
3.
[image: Graphical user interface, text, application, email

Description automatically generated]
AQA GSCE – Thursday 6 November 2017 – Paper 2 (Calculator) Higher Tier
4.
[image: ]
[bookmark: _GoBack]AQA GSCE – Sample Paper 3 (Calculator) Higher Tier
5.
[image: ]
image1.png
6 A force of 70 newtons acts on an area of 20¢n

if

The force is increased by 10 newtons,
“The area is increased by 10en?

Helen says,
“The pressure decreases by less than 20%”

Is Helen correct?
You must show how you get your answer.

(Total for Question 6 is 3 marks)
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2 Abox exerts a force of 140 newtons on a table.
The pressure on the table is 35 newtons/m’

Caleulate the area of the box that i in contact with the table.

(Total for Question 2 is 3 marks)
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(Totalfor Question 12 i 2 marks)
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‘The dimensions of a rectangular floor are to the nearest 0.1 metres.

Not drawn
accurately
26m

6am

Aforce of 345 Newtons is applied to the fior.
“The force is to the nearest 5 Newtons.

Work out the upper bound of the pressure.
Give your answer to 4 significant figures.

You must show your working
(5 marks)
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The pressure at sea level is 101 325 Pascals.
Any rise of 1 km above sea level decreases the pressure by 14%

For example,

Work out the pressure at 4 km above sea level.
Give your answer to 2 significant figures.

[4 marks]





